Taonuua
CIIOXXeHUs

YpoK - 44



y A

1)3aKpenuTb 3HaHNA N3YYEHHbIX
NMPUEMOB CITOXXEeHUA U
BblUMTaHUA B npeaenax 20;

2)YMeHue peLluaTb YypaBHEHUA U
TeKCTOBbIe 3a4au4u;

3) OTpabartbiBaTb
lsbl'-mchTeanble HaBbIKMW. ‘

3afavuuv ypoka:






— .|
- ﬂ) 3

23 + 2 ¥25(yYy.)- BO BTOPOM
Knacce.

+ 25 = 48(yu.)

: 48 Y4EeHUKOB B AABYX




BbILLNN ocmnoca.ﬁ

12 +4 +3 =19(4.) - Bcero.
9-6=13(4.)
eT: 13 YeNnnoBeK OCTalioCb B




Ne 2(a)

20n+36n
, B 00enl ~ocTanoc
301 '

1)20 + 36 = 56(n)- Bcero.

)56 — 24 - 30 = 2(n)

TBEeT: 2 NUTpa MOJIoKa
CTaJlOChb.



